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SINW 29297 RPTY77 — Damage caused by many is different.

Overview

The X3 attempted to prove that p1om 1w X7 7°X7 prom, from the 7awn of 19913
21 10X, The X773 rejected this proof, and stated that in the case of yw n»2
21 everyone agrees that the 7°X7 177 there is P17 7AW, since it is a X7 P10
of a 0°27. mpoIN will discuss why indeed is it a 277 Xpri.

mooIn asks:
prawn P97 23 5Y XY — and even though it seems from the X 3 later!
2°297 MWwaR 75m0 APRW xn2 KT — that this particular mawn s

discussing a 13n which is not nearby to the *7"1. If the 7 is not 7" 7910,
why is there 0’277 Rp17.

NDOIN answers:
29277 RPIT RDOR 217» Won — nevertheless there is 29297 Xp7.

2%27 5pnTT 11T — for occasionally the multitude of people crowd the 2"7n
and it is uncomfortable to walk in the 2"777 —

ana» "9 — and they enter into the area near the 23n; even though it is not the

1"71, people walk there nevertheless. That it why even by a 2"777% 750 71RW 131, there
can be 0°277 Xp17.

1P® J399RTD — as the X3 states later when it explains the view of the 7127; that
even a "7 7210 APRY TXA requires a W N°2 because of 121 PRI PIAT.

mooIn anticipates the following question. This 1% is 7"77% 7m0 AKX, 2"2w1 maintains
that it does not require a 7w n°2. We are not concerned about the public, since they are at
a distance from the 7%r. Why then does 1"2w" require the building of a door for the 2xn?
Seemingly there is no 2°27 on the outside to cause X7 prn.? mooin responds:

23 Y AN RO92A 32 PR 127 — and 32w even though —
Rupw OR7 799 n°97 — he does not agree with this reasoning —

2°537 SpnTT a7 — that occasionally the multitudes crowd the 2"71 and the
people walk near the 7xn. 3"2w" therefore maintains that a "¥¥ n°2 is not required for a
7"719% 71910 1KY 3.

2P 9on — nevertheless, even though people remain at a distance from the 737 -
2915 NIRTY 2°912° PInn — they can see, from afar, inside the 1% and cause
0 prnt

EREN

* The x1»3 there mentions that 3"2w" maintains that the requirement to build a 9vw n»a is limited only to a
1"777 123107 73, The 1127 disagree with 3"'2w1 and maintain that even a 71"777% 7210 72°RW 1¥0 requires a
ww nol.

? See ‘Thinking it over’.

* We can imagine the three walls of a 7¥n shaped as a 'n". The bottom of the " opens to a ™an', not directly
to the 7"7. The bottom of the 1" is closed with a door. The door however is being opened and closed by the
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"YR NN RPN 3995 K9 7991 — and therefore 3"2w does not argue with the
1127 except for the case of a 9yw ns2

7712 n972 9ax — however concerning a door for the 2xr, even 3"2w" admits
that the members of the 2% —

mMia% MR 2127 — can coerce any individual of that 1¥n to participate in
building the door.

Summary
A 7"77% 790 ORW ¥ s still subject to 0°277 XpP10 since 2°20 PNOTT PINRT

"21. A door however, is required even if we are not concerned for pr77 7127
"23; since the 1"7717 °12 can look into the 2%17 from afar, if there is no door.

Thinking it over

How can we understand that n1901n question on 3"2w7 (why does he require
a n97), is not merely a question in order to understand the position of *x"2w",
but rather a way to prove that pri nw mx1 pra?°

7% °12. To insure additional privacy a (half-circular) wall is built outside the door with an opening on its
side (not directly in front of the door, but rather on the side of the semi-circle). For someone to see inside
the 7x11 he would have to at least get close to the opening of the 7w n°2. A nnoi W (who sits in this n°2
7vw) would be hired to discourage people from venturing close to this opening. If we are not concerned of
P77 1, and if the 9Xn is 7"77% 7010 AR, then there is no need for a 7yw n°a because no one is near the
7xr1. However that is true only if there is a door for the %11. If there would be no door (and no 7ww n»2) the
opening to the 7% (the bottom of the '7') is fully exposed. The people in the distant 71"717, would be
constantly looking at the inside of the 7xn. The door prevents that 7R3 pi1.

5 If that were so0, then MvoIN would have asked the question later in that X>20.

% See nmim on 2.
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